AnroMmMHuMM

B5 B14
n, i P My fs  Ppr | My B ¢c D E F|O P Q@ R T U ﬂ
[min""] kW] | [Nm] (kW] | [Nm] ﬁﬁ RD
63 71 80* 90 (99| 6 63 71 80 90 199 Koa nepep.
402A n;= 1400 min™
308 | 352 3 | 69 | 12| 35 | 80 |24/25 | B clc 96 | 2821
320 437 3 8 10 31 | 90 24/25 | B cl|c 96 | 2818
252 | 555 3 109 09 28 | 100 24/25 | B clc 96 2813 @
220 | 636 22 92 10 23 | 95 24/25 | B cl|c 96 | 1921
191 | 7.33 22 106 | 11 | 25 | 120 |24/25 | B cl|c 96 | 2812
177 | 7.89 22 114 | 11 | 23 | 120 24/25 | B cl|c 96 | 1918
139 | 10.06 2.2 | 145 | 10 | 2.3 | 150 |24/25 | B clc %6 1913 @
120 | 11.66 1.5 | 114 | 15 | 23 | 174 |24/25 | B cl|c 9% | 1713
106 | 13.26 1.5 130 | 12 | 1.8 | 160 |24/25 | B cl|c 9% | 1912
102 1 13.68 1.5 134 | 11 | 16 | 144 24/25 | B cl|c 96 | 1513
91 1537 15 | 151 11 | 1.6 | 160 24125 | B clc %6 1712 e
86 | 16.20 15 159 0.9 | 1.3 | 138 24/25 | B cl|c 96 | 1910
78 18.04 15 177 09 | 1.4 | 160 24125 | B cl|c 96 | 1512
74 18.80 1.4 | 135 1.0 | 1.1 | 138 24125 | B cl|c 9% | 1710
65 | 21.54 14 | 155 1.0 | 1.1 | 160 24125 | B clc %6 1312 e
63 2220 141 | 161 1.0 | 11 | 167 24125 | B cl|c 9% | 1013
53 | 26.30 075 129 1.1 | 0.80 @138 24/25 | B clc %6 13m0 @
47.6 | 29.40 075 144 14 083 160 24/25 | B cl|c 9% | 1012
39.0 3591 055 129 1.1 | 059 138 24/25 | B clc 9% 1010 @
36.5  38.37 055 138 1.2  0.64 160 24/25 | B cl|c 9% o
299  46.86 055 169 0.8  0.45 138 24/25 | B G| ® 9% o910
276 | 50.67 0.37 123 1.1 | 0.40 @132 24/25 | B cl|c 9% 712
226  61.88 0.37 150 0.9  0.34 138 24/25 | B G| ® 9% 710
403A n;= 1400 min™
36.5 | 38.40 | 0.37| 90 | 1.9 | 0.72 | 175 |24/25 BC| ¢ 93 | 171713 ®
32.0  43.69 0.37 103 1.5  0.54 149 24/25 BC| C 93 | 101712
276 | 50.64 037 119 1.3 | 0.50 160 24/25 BC| C 93 | 171712 ®
26.2 | 53.36 0.37 125 1.1 | 0.41 @ 138 24/25 BC| C 93 | 191710
229  61.22 037 144 14 | 0.41 | 160 |24/25 BC| C 93 | 1e1312
226 | 61.90 037 146 09  0.35 138 24/25 BC| C 93 | 171710
19.7 | 70.95 037 167 1.0 | 036 160 24/25 BC| C 93 | 131712 ®
191 | 73.43 037 172 1.0 038 175 24/25 BC| C 93 | 101713
18.8 | 7477 025 118 1.2 | 029 138 24/25 BC| C 93 | 191310
16.1 | 86.66 0.25 138 1.0 025 138 24/25 BC| C 93 | 131710
145 96.85 025 154 1.0 026 160 24/25 BC| C 93 | 101712
13.6 102.89 0.25 163 1.1 | 028 180 24/25 BC| C 93 | 101313
111 126.40 0.25 200 0.8 @ 020 160 24/25 BC| C 93 | o712 @
10.3 135.69 0.25 215 0.7 | 019 160 24/25 BC| C 93 | 101312 @
85 16570 0.12 126 | 1.1 | 0.13 @ 138 24/25 BC| C 93 | 101310
79 177.00 012 135 | 1.2 | 0.14 @ 160 |24/25 BC| C 93 | o132 @
6.5 216.30 0.12 164 | 0.8 | 0.10 @ 138 24/25 BC| C 93 | e1310

B MoHTaxHoM noanummn P MoTopHbI onaHel, B5 moxeT He cooTBeTcTBOBaTL paamepam. [poBepbTe pa3Mepbl 1 N0 BO3MOXHOCTU UCNONb3yiTe dnaHel B14.

In the P mounting the B5 motor flange can exceed the foot maximum dimensions. Check on the dimensions and possibly use the flange B14.

Der Motoreingangsflansch in B5 kann grufer sein als die Getriebefbfle. In diesem Falle sollte ein B-14 Flansch genommen werden.

Lors d'un montage en forme P la bride peut diipasser des pattes. Viirifier dans les tableaux des dimensions et utiliser si possible une bride B14.

En el montaje P la brida puede exceder de les dimensiones m6ximas de las patas. Verificar en los esquemas dimensionales, asm como la posibilidad de usar la brida B14.

B.C Bo3MOXHble MOTOPHbIe dhnaHLbl B MOHTUpYIOTCS C NPOCTaBKOW @ © Monoxexue OTBEPCTU/ MOTOPHOTO @
AZRE

Motor flange available Coupling by means of reduction bushing ﬁg?o’ﬁzggg%gnﬁﬁal box position




402A

403A PA3MEPbI / DIMENSIONS / ABMESSUNGEN / DIMENSIONS / DIMENSIONES
402A | 403A
[ X 7 3.0 Macca (kr) c ¢onaHuem 5.7 6.1
Macca (kr) c nanamn 59 6.3

139

@80 N°5 - M8x18 43.5
|

M10x18

11.5 MoTopHbIi hnaHey, B14

50

W

w
5
npnan
\
f\
U T UUUOA
>

Ve
SN2

50°

EEENIR
1]
X
&
o6

8
P402A-N
P403A-N 7

[do) ———
R { [ i ¢
8| ezl )
65° 28 11
M8x19 ~_.
37 89
I
K1 BbixogHoun donaHew / Output flange
‘ al@| b1| et| c1| f1 s1
N 120 80 100 10
M ——] 2 140 95 [ 115 | 10
P402A-F [ P I 160 | 110 | 130 | 10
P403A F - r— 7 F o 200 | 130 | 165 | 11 | 35 | 1
= H :J 250 180 215 15| — —
: L . CraHpapT | @ 25x50
Detail Y 3> » ¢ BbixogHou Ban -
el 1 Q)Output shaft Mo 3anpocy] @ 16x40 @ 19x40
325 h6 (Gramaap) 47 ! c1 On request| @ 20x40 @ 24x50
_I—___ 171.3 402A 175.7 403A
s, T 25—
: 30 2.5 6 T 20| 2.5 5
© X © x
R403A-N i |= = Z & —H=" g
—_ S <=J ] S 0 Q| =J ] I ©
) N Q
M6x16 M5x13
A Tun 402A (MoTOpHbIE hnaHLbl)
6 B 139 Mecee] A | B [Cmax| g6 [ k1
/ \ 71 B14 |178.5 142.5 | 105 [181.5
8 3 1,40 T | =) 80 B14 |179.5 150 | 120 [182.5
—-H-— — = P 90 B14 [180.5 160 | 140 |183.5
P402A.... é N :}:E o % i = - 63B5 [180.5| 160 [ 162 | 140 |1835
— o 2 = o -
P403A © 6 - - T 71B5 |178.5 170 | 160 [181.5
ol 1o [ } - 80/90 B5 [180.5 190 | 200 1835
8 ) | I ) [100/112814195.5 170 | 160 1995
HH HH I | HH HH
M8x19 L] j Tun 403A (MoTopHble chnaHLbl)
G L1 QI o o R MortopHbie A B C 6 k1
L 2 S chnaHup! max| g
56 B14 | 186.5 170.2 | 78 |189.5
Bo3MoxHble pasmepbl nan / Available feet dimensions EEIBIIE 1815 1762 | 90 | 1845
YT 7 71B14| 182 | 166 | 183.7 | 105 | 185
() 2D
otorone] nam | G |H | R | L [ L1 s [H1]O|@l]| 52w |Bomax 6385 1525 2012 | 140 [ 1e55
—_— 71B5 [1805 2112 | 160 | 183.5
102 18 | 85 | 110 87 50 [ 130 | 167 | 15 8 80/90 BS
202/3 18 [ 100 | 130 | 1075 | 60 [ 155 | 182 | 17 [ 11
17 18 | 75 | 110 |90+20| 50 [ 145 [ 155 [ 15 [ 9 |18 gqmoms
27 25 [ 90 | 110 | 130 145 [ 172 | 20 [ 9 | 3 o008 Bbl Havigete kobl B Tabnuuax
020-021] H1 | 18 [ 80 | 110 | o0 135 | 162 | 14 | 9 |13 susoms HaMPOTUB HYXXHbIX PAsMEpoB
022-223] H2 | 25 [100 | 110 | 115 145 | 182 | 20 | 9
04 L4 13 | 80 | 105 76 132 [ 162 | 5 [10 [ 13 gom0ss
05 L5 | 16 [100]| 125 90 150 | 182 | 6 [12 Checking the main dimensions
20023 | EO | 18 | 75 | 110 85 150 | 157 | 5 |10 |18 sgg0Bs (G-H-R-L) you will find
21023 | E1 | 16 | 80 | 110 | 165 165 | 162 | 6 | 12 7185 the codes (S1-B1 - etc.)
a2i3 | 25 | 80 [110-120] 85 145 | 162 | 15 | 9 |13 sog0ms of your need
102 PO | 20 [102 | 100 106 125 | 184 | 5 [ 10
128 P2 24 (128 | 118 126 166 | 210 [ 6 |12 - Hanbonee nonynsipHble TUNbI
4075-85G| J1 |16-17 80 | 120 | 55+65 160 | 162 | 6 |10 [ 13 sooss Most popular types
4090-056| J2 | 25 [ 100 [ 150 90 175 | 182 | 6 [ 12




